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Reaction

\D*+, TP He*+ ni+Energy is an
example of

(A) Nuclear fusion

(B) Muclear fission

(C) Artificial radioactivity

(D) Radioactive disintegration

A radicactive substance X2 gives
8 stable element _Y?" after nuclear
decay. The number of « and B
particles emitted in this nuclear
process will respectively be

(A) 6and3

(B) 6 and 4

(C) 3andb

(D) 4 and &

The half life period of C** is 5.6x10°
years. The wvalue of disintegration
constant will be equal to:

(A) 12.379x105yr!

(B8) 1.2379x%105yr!

(C) 12.379%105yr!

(D) 1.2379x10Cyr?

Thyroid complaints are diagnosed by
the use of radipactive isotope of.

(A} Cobalt-60 (CO80)

(B) Iron-56 (Fe)

(C) lodine-131 (1131)

(D) Sodium-24 (Na')

0620202\D\2024

sfrfean

D2+, T Het+ n'+Energy

e &

(a) =l Haas &

(B) =iy famvss @

(C) TFEm i e =

(D) Yedwleea &g &

o Yl ganf | X it ea B
aFEI o e A e &6 £ 5 Wi
# Feafold o UF p TN @I T HAe: wni
(A) 63k 3

(B) 63iT4

(C) 336

(D) 436

CY @ F-3MgEE 5.6x10° 74 ¢ gas
feree= Reris & m= 8

(A} 12.379x 1053t

(B) 1.2379x10%af

(C) 12.379x%10-"5f

(D} 1.2379x 105

ameREE o e P F % fomm dfhentt
TOEE & T W EE s

(A) THEwT-60 (CO)

(B) TIE-56 (Fe%)

(C) smEEF-131 (1)

(D) wifEe-24 (Na®)
P.T.O.
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5.

A geiger-Muller tube isa

(A} Cloud chamber

(B) Gas ionization chamber

(C) Spectrophotometer

(D)} None of these

As a result of the process of electron
capture ("K-capture") by At!, the
new isotope formed is

(A) Ao

(B} A2

(C)
(D) B

FD.H 1

The isotope Cr*? is produced by the
beta decay of which of the following.
(A) Cr®
(B) Cr*
(€y v
(D) V=
Radio carbon dating is used to

determine

(A) Height of an object
(B) Weight of an object
(C) Age of an object

(D) All of these

0620202\0\2024

[4]

(A) AEE S8

(B) i sl W

(C) TGP

(D) T8 & & TE

A T v S 2Bt i & AR
ey REtfea ¥ @ SR
el @2

(A) ALz

(B) At?

(C) Pom

(D) B

g Crs Frefolae # ¥ oo der
&7l TIRT 307 BT

(A) Cr¥

(B) Crs

(C) e

(D) V=

e el 2fEn & Iwam Fefolfaa # 9
faver o T v 2

(A) T @ JOE S 6

(B) &% ® WR 3 6 o

(C) =% & Mg T & fo

(D) Judrh |l
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10.

11.

Scintigraphy  is  used
radioisotopes that emit the radiation,
(A) a

(B) p

(C) ¥

(D) 3

Match list 1 with list II and select
the correct answer using the codes
given below:

List-I

Gold number 1.

List-II
Purification of
sol
Hardy-Suhulze 2. Elastic gels

(a)

(b)

(c) Imbibition 3. Protective
collold

{d) Dialysis 4. Coagulation
of sol

(a) (b) (c) (d)
(Al 17 2173 -4
(B) 2 3 4 1
(Cy 3 4 2 1
(D) 3 4 s
Which of the following statement is
not correct?
(A} Increase of pressure increases
the amount of adsorption
(B) Increase of temperature causes
a decrease in the amount of
adsorption
(C) The
unilayered or a multi layered
The particle the

adsorbent will not affect the

adsorption may be

(D) size  of

amount of adsorption

DeZ20202'D12024

to detect

g,

10.

11,

[5]

FifEast #1 oy Prefefes & @
form fofemmr &1 seafsle oo amr
HTEHEIC I B Gl 7 o fow fosar = 2|
(A) w
(B) p
[C) ¥
(D) &

Tt 1 et 11 9 e @i st aferr
o -rd 5% o @ W I @& aae s
I ot 1T
o] 1, Hie &1 9=
Erl-gre Praw 2. oo ot
e 3, Y816 FITES
aTE 4, e & T

(a) (b) (c) (d)
(A) 1 2 3 4

(a)
(b)
(c)
(d)

(B) 2 3 4 1

)3 4 3 1

)3 4 1 2

Freferfiaa @t 4 9 #f = ad =8 &

(A) @rE &g ¥ Jitreimor agan &

(B) &g T siftreimer & arn ow B
it &

(C) wftreimor ow off o wgedt & e
#

(D) et & &or e siftrgiooy 31

a8 S 2
P.T.O.
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12,

13.

14,

Which of the following statement is
true with respect to the extent of
physisorption?

(A) Increases with

increase in
temperature
(B) Decreases with increase in

surface ares
(C} Decreases with Increase in the

strength of vander walls forces

(D) Decrease with

temperature

increase in

The term used to determine the
protecting power of a lyophilic colloid
5.
(A)
(B)
(C)
(B)
Which of the following property of

Coagulation value
Oxidation number
Gold number

Mone of these

colloids does not depend on the
charge on particles?

fA) Electrophoresis

(B) Coagulation

(C) Tyndall effect

(D) All of the above

0620202\D\2024

12, Gl 3 4 B e R s

13,

14,

ot ey & ddn ¥ v €

(A) aH Te B T de &

(B) i e 51 & Wl UeAl §

(C) Tiex T = @ @wd s
e o #

(D) AN ag & W e &

e PeEs B s e @l
Frerifam & ¥ fow o= v & &
= &

(A) HIE HF a1 ¥e e

(B) MOl e

(C) ¥au] Hedn

(D) ¥ 9 ®iF T5

Fr=fofias 4 3 semss = o5 o o
& s o Pl =8 =

(A) Hea @ Hoe

(B) FwiEe ()

(C) Femwam

(D) IUE |
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15.

16.

17.

18.

Dispersion of a liquid in another
liguid is called___

(A) Gel

(B) Foam

(C) Emulsion

(D) Aerocsol

Lyophilic sols are more stable than
lyophobic sols because the particles
of lyophilic sols are,

(A) Heawvy

(B} Solvated

(C) Positively charged

(D) Negatively charged

Which of the following forces is
involved in physical adsorption?

(A) Gravitational force

(B} Magnetic force

(C) Electromagnetic force

(D) Van der Waals force

Which one of the following is the
most effective electrolyte in causing
coagulation of a negatively charged
A.S, sol:

(A) KCI

(B) MgCl,

(C) Naso,

(D) K;[Fe(CN),]

0620202\D\2024

15. Frd 28 o1 3oy g9 ¥ uRdwor wem 2-

16.

17.

18.

Fre T Rera, g Rl S
foroe & st wrl &) e e
Fiemes famae & &l -

(A) W

(B) Tammafsa

(C) e

(D) FomfEE

Fepfotfiae o & ol wr aw i sftrior
% enfee &

(A) TEEEGHT &
(B) du@iT aw
(C) Togm daea aa

(D) devdie &

FOTANTG A_S, Hiol & whwes & o
Freifoifan % & o w1 waffte s
Fere- g 21

(&) KCI

(B) MgCl,

(C) Na,SO,

(D) K,[Fe(CN),]
P.T.O.
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19. Calculate the pH of 10N H,SO, at

20.

21

224,

250C
(a) 3
(B 2.7
(C) 3.3
(D) 2.5

Equation

[Salt

PH = p™ + log 3 gy s called

(A) Henderson-Hasselbalch equation
(B) Nernst equation

(C) Henery equation

{D} MNone of these

Equivalent conductances of AgNO, at
259C for infinite dilution is 133 Ot
cm? equi’. The transport number of
Ag® ion in dilute solution is 0.46. The
equivalent conductance of NO; ions
will be:

(A) B1.2

(B) 71.82

(C) 7.18

(D) 65.30

The equation for the determination
value of a solution using

of pH

hydrogen electrode is.
L

(A) pPH=gpsa1

(B) E=E®+0.0591 pH

(C} E,=E.+0.0591 pH

_ 0.04574-Ecell
(D) pH= D‘n 0591
0620202\D\2024

19.

20,

21.

250C y¥ 10-N H,S0O, & pH 7 &

(A) 3

(B) 2.7

(C) 3.3

(D) 2.9

AT pH = p* + log aqy ) TEm
#

(A) HETE SR TR

(B) =% W

(C) it wdreor

(D) ¥ 91 I el

1 TN T AgNQ, # 259C U7 g
el 133 3 I groiE @1 a9
fama= ¥ Agt 3] W AR 0.46
#1 NO; o T grais! T Eni:
(A) 61.2

(B) 71.B2

() 7.18

22.

(D) 65.30

EREISH ZaeTs BRT et Rieea &1 pH
BT T T T B

o S
(A) PH =g o501
(B) E=E®+0.0591 pH
(C) Eﬁ=E, +0.0591 pH
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23. P= values of four acids PQ,R and S

at 25°C are 3,4,5 and & respectively.
Which one is the strongest acid:

23.

o< 37 PQ,R 3k S 6 P @ W 250C
O% IEET 3,45 991 6 Bl 599 9 @l W
ape wEeEan #

(A) P (A) P
(B) Q (B) Q
(C) R (C) R
(D) S (D) 5
24. The standard electrode potential of 24, Fe*l/Fe TUT Sn*%/Sn Foegial & WFE
Fe*l/Fe and Sn*i/Sn electrode are gevE fove mwen -0.44 T -0.14 dieT
-0.44 and -0.14 volts respectively. 3| I # il Fe+Sn+2aFe*2+Sn
For the reaction Fe+Sn‘*<Fe*2+5n, P ﬁqaaﬁﬁaﬁﬁmﬁﬁnﬂ
the standard a.m.F. is.
(A) -0.58 FFC
(A) -0.58 volts
(B) -0.30 volts (BN
(C) +0.30 valts (C) +0.30 #w
(D) +0.58 voits (D) +0.58 gies
25. Match list 1 with List IT and select  25. @1 & gqE-11 & At Aide oo

the correct answer using the codes

given below the lists:

it & A0 B R el ¥ ol e
Ry

List I List II T I et 11
(a) Transport number 1. Henderson (a) sfinmmim 1, Bt
(b) pH of splutions 2. Ostwald (b) Taerm=i @ pH 2. il
{c) Buffer solution 3. Sorensen () amt faeeE 3. 9=
(d) Dilution law 4, Hittof (d) we Fraw 4, T
(a} (b} (c) (d) (a) (b) (c) (d)
1 2 3 34 (A) 1 2 3 4
B4 3 1 2 (B) 4 3 L.
4 3 2 1 x4 4" 2 1
(02 3 4 1 By 2 3 4 4
0620202\D\2024 (a1 RT.O.
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26. What is the p™ at 298k 26. pr @1 298Kk W1 HF T

(A) O (A) O
(B) 1 (B) 1
) 7 (c) 7
(D) 14 (D) 14

27, What is the hydrolysis constant of a 27, g ape-gder &R & foe FIe owe

weak acid-weak base? Froms #
Kw
(A) Kw
Kb (A kp
 Kw 55
(B) waxkp (B) Raxkb
I
6 X © &
e i men
(D) }cail-:h (®) KaxKb

28, What is the degree of dissociation  28. Was e smwear & B fages &t o #

for strong electrolytes? (A} 1
(A) 1 (B) 0
(B) O

(C) >1
(C) >1

(D) <1
(D) =1

29, The pH value of 1x10-"M HCl solution 29. 01 # 1x10°%M HCI & pH 51 8

i i :
in water will be (A) 8

(A) 8
(B) Slightly less than 7 (B) Slightly less than 7

(C) 6 (C) 6
(D) 5 i
0620202'D\2024 [10]
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30. The most widely used

31.

32,

33.

0620202\D\2024

reference
electrode is.

(A) Gas electrode

(B) SHE

(C) Calomel electrode

(D) Ion selective electrode

The specific heat capacity of lead is
0.13 J/gk. How much heat (in 1) is
required to raise the temperature of
15g of lead from 22°C to 379C

(A) 29,251

(B] 2.0421

(C) 5.8x10*]

(D} -0.131

Heat of neutralization is less than
13.7k cal in

(A} HCl and NaQH

(B) H,50, and NaOH

(C) HNO, and NaOH

(D) CH,COOH and NH,OH

Entropy decreases during:

(A} Rusting of iron

(B) Melting of ice

(C) Vaporization of camphor

(D) Crystallization of glucose from

solution

[11]

30.

5 I8

32.

33.

T s W A I e e aen
way oS B

(A) T geee

(B) WIS IR FEGIE

(C) el e

(D) TR TS o

| &t e 3w afder 0.13 J/gk 1
15q 9N @ 9HF 220C § 37°C 9@
Ter & e R 3 & sewge (3
H) grire

(A) 29.25)

(B) 2.042)

(C) 5.8x10-]

(D) -0.13]

TR 3 13,7k cal 9 o9 gy #

(A) HO 3R NaOH §
(B) H,S0, #T NaOH #
(C) HNO, 3R NaQH #

(D) CH,COOH 3" NH,OH #

UG 39 AR Heddt &

(a) @ i Fm e

(B) o o e

(C) UL HT ST

(D) dfc & Temie @ et
P.T.O.
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34.

35.

36.

37.

0620202\D\2024

Change in enthalpy in an exothermic

reaction is.

(A) Positive

(B) Negative

(C) Constant

(D) Neutral

Hess's law deals with.

(A) Heat change in a chemical
reaction

(B) Rate constant

{C) Equilibrium constant

(D) Rate of reaction

For an ideal gas C, and C, are related

as:

{A) C-C=R

(B) C+C =R

(C) C-C=RT

(D) C,+C,=RT

In which of the following temperature

decreases?

(A) Adiabatic compression

(B) Adiabatic Expansion

(C) Isothermal Compression

(D) Isothermal Expansion

[12]

34, ey sfifear 3 oted ¥ oftae &1

#

(A) e
(B) FOTE
(C) Fem

(D) e

35, & @ Fram wEfta @
(A) e aififar i s aRad
(B) I FariE
(C) s Faais
(D) sl & am

36. v Ee T & fow C, tE C, 39 WOK

w8

(A) €,-C,=R

(B) C,+C,=R

(C) C,-C,=RT

(D) € +C,=RT

37. PR & % fwed aoae mem #p

(A) wgmsr Eiga

(B) W BER

(C) Al HaigeT

(D) Fwamdt o
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38. Which of the following is an intensive

39.

40.

1.

property?

(A) Temperature

(B) Surface Tension

{C) Viscosity

(D) All of these

Heat of neutralisation of a strong
acid by a strong base is equal to AH
of
(A)
(B)
(C) 2H,+0,=2H.0

(D} m}{:DCH~I+HaDH=G-IjEDDHa+HJD
The

H*4+0H =H,0
H.O4+H" =H,0*

enthalpies of all elements in
their standard states are equal to
(A) 1

(B) O

(C) <0

(D) >1

combustion of

Heats aof CH,,

CHBCH are -890-1411, and-
1560 K)/mole respectively, Which
has the lowest fuel value in K/g

(A) CH,

(B) C,H,

(CY} CH,

(D) All same

0620202\D\2024

38,

39,

Fr=frfirs 4 2 o w1 ow o e
(A) T

(B) T a7

(C) =

(D) IRrE

VAR A 0 WA M B BRI
o Frefofaa wfufsand 4 fises aH
Gl B

(A) H*+OH =H,0

(B) H,O0+HY=HO*

(C) 2H,+0,=2H.0

(D) CH,COOH+NaOH=CH,CO0Na+H,0

40, ¥4 7= & e e F ol B

41.

[13]

¢

(A) 1

(B) 0

(€) =<0

(D} =1

CH,, CH&CH, @ z@d F=n @O
-890,-1411 U9 -1560 K)/mole |
Frer & 2 o =geem fom v (KD/q)
5 e

(A) CTH,

(B) CH,

(C) CH,

(D) =i s

PT.O.
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42.

43.

44,

0620202\D\2024

The state of water which has lowest
entropy is.

(A)
(B)
()
(D)
The refrigerator and heat pump

Ice

Steam

Liquid water

Super cooled liquid

works on which principle?
(A) First law of thermodynamics

(B) Second law of thermodynamics
{C) Third law of thermodynamics
(O) Zero law of thermodynamics
Read the following mathematical
Select the

statements. correct

answer from the codes given below
the statement:

1. For entropy and probability

relationship S=KInW

2. In vaporisation of

ﬂs.t.=—‘§".||.-4—*

b

water,

3. For

AG =RTIn(+})
4. For entropy

isothermal change

change is an
adiabatic process As>0

(A)

(B}

(<

(=)

1 Only

1 and 4 Only
2 and 4 Only
1,2 and 3 Only

[14]

42,

43.

Frffaa afoda mee ©f 9i@a) e

TR I O Bl 6 Y Bd T FE H

#ifw|

1. oMl v wwilgar @9 &g
S=KInW

2, Eﬁﬁmﬂhau=éﬁ't

3. il  dREde %
AG =RT In( )

4. wem wmon A eerdl uRedw o
As>=()

(A) e 1

(B) 13k 4 aw

(C) 234 Fa3q

(D) 1,23kt 3 Faer

fere
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45, Match List I with List II and select

40.

47.

48.

the correct answer from the codes
given below the lists:

List I List IT
(a) aAce 1. -nE°F
(b} AH 2. RTIn(%]
() AG 3. -RTIn K
)
(d) aS 4, -7|2T
a1

(a) (b) (c) (d)
(A) 3 4 1 2
(B) 1 2 3 4
(Cy 2 3 4 1
iy 4 1 2 3
For an adiabatic process
(A} T=constant
(B) g=0
(C) g=constant
(D) w=0
The unit u‘f molar conductance is.
{A) S m*mol!
(B} mis?
(C) 5m
(D) S m‘mol-!
At 25°C the molar conductances at
infinite dilution of HCI, CH,COONa
and NaCl are respectively 26.1, 91.0
and 126.45 sm?mol-!. The ~°m for
CH,COOH is
(A) 191.6 sm?’mol!
(B) 390.65 sm?mol-!
(C) 3B0.65 sm?mol-’

(D) None of these

0620202\D\2024

45, TE-1 P G113 pifere B o

46.

47.

48.

(18]

T w2 S S
T I

(a) AGe 1.

welt 11

-nE°F
(b) AH 2. RTIn(R)

=RT In K

)

(c) AG 3.

(d) as 4,

(a} (b) (c) (d)
(A) 3 4 1 2
B 1 2 3
€2 3 4
(D) 4 1 2

Fae WHY & far

(A) T=Fma

(B) g=0

(C) q=Frm

(D) w=0

AT TSl $ SE1E (AEE) &
(A} S mPmol

{B} mi‘s—i

(C) Sm*

(D) S m-tmol

259C W HCl, CH,COONa g NaC
@ W AESa BT 26,1, 91.0 vH
126.45 sm?mol-! & CH,COOH ¥ fe
AOm @ T B

(A} 191.6 smimol-

(B) 320.65 smZmol-!

(C) 380.65 smZmol!

(D) 79 ¥ ®I% &

el = In

P.T.O.
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49,

50.

=3

52.

0620202\D12024

At, the cell potential is.

(A) EC

(B) E

(c) 1

(D) O

A buffer solution contains 0.20 mole
of NH,OH and 0.25 mole of NH,CI
per litre. Calculate the pH of the
solution. (Dissociation constant of
NH,OH at the room temperature is
1.81%10%)

(A) B.210

(B) 7.310

(C) 9.161

(D) MNone of these

The degree of hydrolysis of 0.1M
spolution of sodium acetate at 259C
will be

(Ka=1.75x10"* and kw=1.008x10"")
(A) 8.580x10-5

(B} 7.589x 10

(C) 6.589x107

(D) Mone of these

Isotope of Uranium used in atomic
bomb is

(A) LU

(B) U™

(C) U™

{D}I luU?Ji

[16]

49, OK W & fva 2

50,

51,

52.

(A) E°

(B) E

(C) 1

(D) O

oE ane fead NH,OH B NHCl &
0.20 74 0.25 mole 11+ v@a | faeas
@1 pH T w1e @ (NH,OH & &R &
a7 a7 foee feris 1.81x107° )

(a) 8.210

(B) 7.310

(C) 9.161

(D) ¥ ¥ o el

25°C WX wifian oHee & 0.1M famas
& T T A g
(Ka=1.75x10% 3R kw=1.008x10-*)
(A} 8.580x10°5

(B} 7.589%10°%

(C) 6.589%10°

(D) 5% & @ =&

THW] 99 8 WO BM ann gitam @
WS

(A) U™
(B} Lo
(C} ,Uv®
(D) g U
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53.

4.

2.

The factor % represents

(A) Molarity

(B) Normality

(C) Molality

(D) MNone of these

The process of hydrolysis is.

(A) Always exothermic

(B) Always endothermic

(C) Either exothermic
endothermic

(D} Neither exothermic

endothermic

In the nuclear fisslon reaction
U2+ i Sn172 rl4 X

X is-

(A) B 14%

(B) . Kr#

(C) ,Mo*

{D} msnuu

0620202\D\2024

54.

55.

(D) &9 4 315 T8

T WOHES @ T &

(A) B FeEn

(B) sﬁmmﬂ&r

(C) ar i Fwmdndt o 2 i

(D) = & JumEnd F & Iy

At Reves sfifsm §
s+ N, Sn172 nty X
X &

(A) . Ba

(B} ,.Kr*#

(C) g Mo™

(D) ., Snix

https://sarkarinaukarikform.com
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56. Wee & F R B §
(A) rer & diFe T
(8) wrer 3 amght W
(C) 2 (A) 3T (B)
(D) w7 & D T

57. What is the energy of photon that 57. wém W 2.5%10-Scm! a@ HIE I

26. Energy of photon depends on.
(A) Intensity of photon
(B) Freguency of photon
(C) Both (A} and (B) .|
(D) None of these

corresponds to a wave number of

; Fl &

2.5%10"cm'? = -
(A) 2.5x10"erg

(A) 2.5%x10"erg
(B 5.1x10"*erg

(B) 5.1x10%erg

(C) 8.5x10%erg
(C) B.5x10%erg

(D) 5.0x10erg (D) 5.0x10 % erg

58. Phenomenon occurs even after the 58, ufyT wemE F 5= o & aE 47 ufea

incident light is shut off is called. B A WEH & B v
(A) Fluorescence (A) wieEifa

(B) Phosphorescence (B) oAl

(C) Quenching (C) ™A

(D) Phatosensitization (D) ST e

59.

0620202\D\2024

In fire flizs the flashes are produced 59. I A THSG UE WIEH R & i

due to combustion of a protein

Luciferon In air and moisture. This

= | FE & ST I B 2 gw
Al HEA &

phenomenon is known as (A) ST GEIEEOT
(A) Photosensitizer (B) VIR w&
Photo Combustion
(B) - (C) v Tt uiads
(C) Photo Che mical Change -
(D) TS Hee

(D) Chemiluminiscence

1181
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60. The quantum yield for thé photo

61.

62.

63.

Uunsll:[-un! J

chemical reaction H,+Br,—+2HBr is
(A} 0.1

(B) 01

(C) 10

(D) None of these

Which

of

the - following = act

as photosensitizer during
photosynthesis?
(A) O,

(B) H,0

(C) CO,

(D) Chlorophyll
Which one is not non radiative
transition?

(A} Internal Conversion

(B)

(C) Intersystem crossing

Fluorescence

(D) MNone of these |

h Inter system

W
HT:;}“FE .'.’n:l:lsl:l-n:ll:ln'.:'nE 3 Crossing LF
]

Radiati
tive g

The above mechanism is used for
(A) Phosphorescence

(B) Fluorescence

{C) Photosensitization

(D) None of these

0620202\D\2024

60. W THEHS SififEar H,+Br,2HBr

61.

62.

63,

[13]

# fow marey af &

(a) 0.1

(8) 01

(C) 10 .

(D) 9 | 1§ 75

Frefofed 4 ¥ o wvow wwmo
HHicaT # FHTT AT BD & R
I T @

(A) O,

(B) H,O

(C) co,

(D) aEiEer
Fr=fafas & & =9 Rt d9wao
7l 27

(A)  safes ofiada

(B)  miciia

[C) e Few @il

(D) Fwres 4 i e

T

?;fn"m?—#%f"gx e o
ik

Swfs 7= 1 T T T &
(A) wpeaifia gg

(B) wierdifis &g

(C) ST TUEERT B

(D) P & o =8t

1

P.T.O.

https://sarkarinaukarikform.com



64. Quantum efficiency of the reaction
2HI-H 4L, is 2, In an experiment
0.05 moles of HI decompose then
calculate the number of photons
absorbed.

(A) 3.012x10%
(B} 3.012x10%
(C) 30.12x1p%
(D) None of these

65. The Van't Hoff factor of completely
lonized K, [Fe(CN),] is
(A) 3
(B) 4
(C) 5
(D} 2

66. Which pair of solution is isotonic?
{A) 0.1 M Glucose and 0.1M Urea
(B) 0.1 M Glucose and 0.1M NacCl
(C) 0.1 M KCl and 0.1M MgCl,

(D) Al of thesa

67, Calculate the freezing point of
a solution made by dissolving
20g of glucose 200g water (K, for
water=1.86 k kg/mole)

{A) -1.03°C
(B) 1.860C
(C) -1.860C
(D) 1.03°C
0620202\D\2024

&4,

B3.

66.

67,

[20]

g 2HI-H,+1, T TEEH Zem
o 3| oft fsd wom & HI & 0.05 =t
@ﬁgﬁmﬂﬁmgﬁ EIETAT fh Tl T
it

(A) 3.012x10%

(B) 3.012x10%

(C) 30.12x10%

(D) & F B T

-yofean amafaa K, [Fe(CN),] &1 aeeTs

e &
(A) 3
(B} 4
(C) 5
(D) 2
faera & S = s TR 4

(A) 0.1 M Tg@iar 3iK 0.1M gitar
(B) 0.1 M wts 3R 0.1M Nacl

(C) 0.1 M KCl3R 0.1M MgCl,

(D) & w4

20 U TEES @ 200 Y Fe ¥ diest
T T T @ i fovg s aiae
(K, 1 311 & 7 #1=1.86 k kg/mole)
(A) -1.030C

(B) 1.86°C

(€) -1.880C

(D) 1.03°C
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68. The molarity of pure water is

(A) 5.55M
(B) 55.5M
(C) 555M
(D) None of these

69. The order of osmotic pressures of

equal molecular concentrations of
glucose, NaCl and BacCl, is

(A) Glucose>NaCl>BaCl,

(B) BaCl,>NaCl>Glucose

(C) NaCl> BaCl,>Glucose

(D) All of these

70. The boiling peint of the solution

showing positive deviation from

Raoult's law is.

(A) Less than Boiling point of either
of the component

(B) More than Baoiling point of either
of the component

(C) Equal to Boiling point of either

of compenent

(D) All
71. For an ideal solution
(A) AH=D, AV=0
(B) AH=4ve, AV=+ve
(C) AH=4va, AY=-ve
(D) AH=0
0620202\D\2024

68, ﬂgﬁfﬁﬂmé

69.

0.

71,

[21]

(A) 5.55M
(B) 55.5M
(C) 555M

(D) ¥ 9 Wi =

T@la, NaCl W6 Bacl, % ww-30[®
fermr=t & TR 2w 2

(A) Glucose>NaCl=BaCl,

(B) BaCl,>NaCi>Glucose

(C) NaCl>BaCl>Glucose
(D) & a3l

e R ¥ oMo faes aoiy
fereram w T 2

(A) T&d 9 oem & Faemis @ B
(B) ﬁtﬁuﬁﬁiaﬁmﬁ%mﬁﬁ
(C) foreit o wes & s ) goee
(D) Wi

v ey e & B

(A) AH=0, AV=0

ol
(B) AH=+ve, AV=+4ve

(C) AH=+ve, AV=-ve

(D) AH=0

P.T.O.
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?2!

73.

74,

75.

0620202\D\2024

If 1000ml of water is mixed with
1000ml of H,S0,, the total volume
of mixtura will be

{A) Equal to 2000ml

(B) Less than 2000ml

(C) More than 2000mil

(D) None of these

Colligative properties depend on
{A) The nature of the solute particles
dissolved in the solution

(B} The number of solute particles
in the solution

(C) The nature of solvent particles
(D) All of these

The latent heat of melting of ice at
0°C is 80 calories/gram, Calculate
the molal depression constant of
water.

(A) 1.B&3

(B) 1B.63

(C) 0.1863

(D) None of these

How ald is & bottole of wine If the

tritium (H?) content (called activity)
is 25% that of a new one?

(t,,, of H*=12.5 years)

(A) 25 year

(B) 30 year

(C) 50 year

(D) 37.5 year

[22]

f2.

73,

74.

75,

= 1000 .. 37 1000 Frel. H,S0,
e smn &, @ Fsor @ P AEc

B
(A) 2000 fir. . & TUE

(B) 2000 f.ef. & @m
(c) 2000 f.ch. ¥ FHUD

(D) ¥ B B Tl
mﬁmpﬁﬁﬁ?m#

(A) feror 3 ) Frev &1 @) SRERT
(B) famae ¥ R wo @ W

(c) faemaes @il @ wplc

(D) FEITE Al

=1 3 P Hree wEeee FeRiE &1 T
Ffaw o ab & mem &t e 39 00C
g7 80 her/I &

(A) 1.863

(B) 18.63
(C) 0.1863

(D) ¥ 9 B T

v IREA U s fs ) 8 af
i eEfgan (He) & wfisam 78 sE &t
ahver ) g 3 25% 1 (H2 1 3 3
e = 12.5 79)

(a) 25

(B) 30 @4

(C) soad

(D) 3r.5@
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